Name: If:j" — e T

Notes: Rectangles, Rhombi and Squares B
Properties of Rectangles A rectangle is a quadrilatera! with four TR s
right angles. Here are the properties of rectangles. \ﬁ/
A rectangle has all the properties of a parallelogram. u <N g
* Qpposite sidea are parallel.
¢ Opposite angles are congruent.
¢ Opposite sides are congruent.
* Consecutive angles are supplementary.
* The diagonals bisect each other.
Also: :
¢ All four angles are right angles, £UTS, 2 TSR, £8RU, and ZRUT are right angles.
¢ The diagonals are congraent. TR =US
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3. IfAE = 3x + 8 and EC = 5x - 15, find AC. 4 1EDE = v — Tand AE = d4x + 9, find DB.
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5. Determine whether the figure with vertices F(-4,-1),G(-2,-5), H(4,-2) and J(2,2) is
a rectangle.
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Properties of Rhombi A rhombus is a quadrilateral with four
congruentsides: Oppositesider wrecongruentson rlombus s alzo =
parailelogram and has all of the properties of a parallelogram. Rhombi
also have the following properties.

The diagonals aro parpendintiar, HH.BO
Rty = o
Each diaponal bisects a pair of cpposite angles. | 74H bisects ~ BMO and 2 AHO. _ EX1. In rhombus ABCD, m<BAC=32°
HObiseots » MRH and 2 MOH. Find the measure of each numbered angle.
i ihe dingonals of a paralielogram are i AHOM is & paralielogram and 53 .1 #40,
perpandicuiar then the figurs is a rhambus, Hien RHOM is a thombus,
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2. Determine whether the figure with vertices E(-7,3), F(-2,3), G(1,7) H(-4,7) is a rhombus. o < "’ @ 90.
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1. gﬁ “2 Find the measure of each numbered angle of
square ABCH,

2. Determine whether the figure with vertices E(-2,-1), F(-1,3), G(3,2), and H(2,-2) is a square. < r 5 2] ﬁ'

To be a square, you must test for L} r'\Q'V\‘\' L3 k\ ,\5'- S'\C\fS
ope S Aistonte S
JWKS\OPQ G 2-‘-\‘—-'— "l) F&G={1
S\ope EW - g\. ER =\
J - o=
£ ol oy ey
S\oPe FGy & % o
ALL 4 <8 ane Riant 48 D€ caunac

CONSECuhve SIcS OAL L ongl Fo ' EN'Z GHEFL
SoALL Y Sides ot &2 o ° 1+ Sauane .

e,

¢
r




